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Il Semester B.Com. Examination, November/December 2018
(F+R) (CBCS) (Semester Scheme)
(2015 - 16 & Onwards)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in Kannada or
English.

SECTION — A

Answer any five sub-question. Each sub-question carries two marks. (5%x2=10)

i a)‘ What is financial leverage ?
b) What is wealth maximization ?
c) What do you mean by stock dividend ?

d) Calculate the present value of ¥ 40,000 received after 5 years, if the discount
rate is 10%.

e) State four components of working capital.

f) Initial investment of ¥ 10,00,000, residual value % 2,00,000, working life is
5 years, additional working capital ¥ 1,00,000. Calculate average investment.

g) Name the two models used for valuing equity shares.

SECTION - B

Answer any three questions. Each question carries six marks. (3x6=18)
2. Briefly explain the various forms of dividend.
3. Mention the functions of financial management.
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4. The following information is available in respect of a product :
Units sold — 60,000
Sales price per unit—3% 12
Fixed cost — ¥ 60,000
Variable cost — X 6 per unit
10% debt capital of ¥ 1,20,000
Calculate all the types of leverages.
5. A bank manager offers a scheme in which Mr. Mallesh gets ¥ 1,000, ¥ 2,000,
X 3,000, X 4,000, ¥ 5,000 at the end of each year for a period of 5 years at the

discount rate of 9% for a lump sum deposit of T 12,000. Is it advisable to invest
% 12,000 to Mr. Mallesh ? Advise him.

6. The initial cash out lay of a project is ¥ 1,00,000 and it generates cash inflows
- 0f ¥ 40,000, ¥ 30,000, ¥ 50,000 and ¥ 20,000 10% rate of discount. Calculate
profitability index.

Years 1 2 3 4
Discount 0.909 0.826 0.751 0.683
factors at 10%

SECTION-C

Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Briefly explain the factors influencing the amount of working capital.
8. Explain the meaning, scope and importance of financial management.

9. Sonu Ltd., company has equity share capital for ¥ 10,00,000 divided into shares
of ¥ 100 each. It wishes to raise further ¥ 6,00,000 for expansion plans. The
company plans the following financing schemes :

a) All equity shares.
b) X 2,00,000 in equity shares and ¥ 4,00,000 in debt @ 10% p.a.
c) All debt at 10% p.a.

d) ¥ 2,00,000 equity shares and ¥ 4,00,000 in preference share capital with
rate of dividend at 8%.

" The company has estimated EBIT at ¥ 3,00,000. The corporate rate of tax is
50%. Calculate EPS in each case. Give a comment as to which capital structure
is suitable.
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10. A company is considering purchasing a machine. Two alternative machines are

it

available machine — A and B each costing ¥ 1,00,000. Earnings after depreciation
and taxation are expected to be as follows :

Years Estimated net cash flows
Machine — A (Rs.) Machine — B (Rs.)
1 30,000 10,000
2 40,000 30,000
3 50,000 40,000
4 30,000 60,000
5 20,000 40,000
Calculate :

a) Payback period
b) Net present value, at 9%.
Assume straight line method of depreciation.
The discount factor is as under :
Year 1 2 3 4 5
DF @ 9% 0.971 0.842 0.772 0.708 0.650
Following information is given to you, evaluate the projects by using return on
investment and NPV methods.
Project X ProjectY ProjectZ

3 z 4
Investment i 70,000 /80,000 90,000
Return at the end of 1! year 40,000 50,000 55,000
Return at the end of 2™ year 30,000 25,000 40,000
Return at the end of 3™ year 20,000 25,000 20,000
NPV may be calculated at 20% discount factor. "
Year 1 sl 3

DF @ 20% 0.833 0.694 0.578
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CBRRTTTR DT BINEA UBOR. B DI AT L908. (5%2=10)
1. a) Tro%oAR J§ DOTTERD ?
b) B0y NOREBTED DO ?

C) AE TYR0B DOTTERD ?

d) 3e. 10 dadwcde ddmﬁd@@ D, 5 RIRFNY 8083 R@ooees T 40,000 nert BR3
a%:’ae% eﬁé@&

e) ORIV WOBTIPT CINT)TTTR 4 BOBNIRY, SR

f) DoroswE woEm¥ X 10,00,000, Feawgs =5°¢; X 2,00,000, THRCIVET 5CHFE
5 SR, Bedsd TROIV wormed X 1,00,000 =B, F09R0 BRETOT,
BOTIGROND.

g) RN, FeBoN &0, 33T DTVRD BRTONIR), S92
QTN - W
BENS CBRFTOTTR =T BIROT UBOR. B3 Tt 81 €208, (3x6=18)
2. DT P03 TRTNYY, FodBwoN DBOR.

_ 3. TEITAT ABFBFHOD E@Q‘bé‘r@?}.& BROR.
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4. 2000 wéﬁp 028030330 BBBOROST :
P3N Wevees — 60,000
20T BT R0’ WS~ 12
0 233 — % 60,000
@ 23
wBoORIS $e3, B3 P63 —T 6
ud L.
Be. 10 © O ok - T 1,20,000
DR, WO RSN, (Leverages) &gzos.
5. 2,003 239,083 gm@ws 2,003 0306303 FRTI3 X 12,000 1eix) e. 9 0 003RoDS
3339, 3¢ ekeBRd T 1,000, X 2,000, T 3,000, T 4,000 3033 T 5,000 R T2

SErE 20350, 5 SRFnescH e X 12,000 nd @erioo Aegse ? Ao
.

6. 1,00 clerdodn TS > Be0 B T 1,00,000 258 BFS SRR wiBOD
T 40,000, ¥ 30,000, X 50,000 a’::%:_o % 20,000 ﬁ#zﬁg{é’e. 10 3 Do3RCDSE WITD,
GUBDORZT. AT RLPODR ﬁ:amgoédﬁgl eﬁéﬂmé.

Years (SReRD) 1 2 3 4
3e. 10 g 0odod  0.909 0.826 0.751 0.683
©03
TN - A
CIRFTRTSR 3 FZRR evgdr. T3 TI7i 14 €908, | (3x14=42)

7. DOREHOR WOBTYS FRST e Feows WeddR 203RERY, HodFemN HEI0R.

| 8. B:omoad AVFBBOD LT, Wy B3 RoBS,NFI), HWOA.
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9. RReSd AODNB FoTAOIH AR, Fedd woBmwe T 100 3 &wedssesd> I 10,00,000
RYINTZT. FoTICN 352 DRTE odpexrdmn X 6,00,000 m#si BURD {az:éfbéd.
£330 BSPBOBOB BEITORID d%\%odasgt 030023333,

a) DV TBRE, FeoN.
—amg ES’E'&ES@ < 2,00,000 e?i)éo Je. 10 © o3 §d© % 4,00,000.
c) «205p It 10 8w TZT9).

d) ERF, Beoned X 2,00,000 03 7,33 2, 3esondd X 4,00,000 3e. 8 B P03
aeialUN

om0 EBIT T 3,00,000. 301303 301 33 3¢. 50 Lol ot Gt 303 ﬁ@ﬁododa (EPS)
66 Tod m O3RN WoR=Y T3 ARTDINT 20T AT AR

10. 2,05 B0TR10 203> CD0ZI V0BT TORESRIT 6008 — A 233 B. B8 0303
2365 ¥ 1,00,000 R R0 Forios> o3 domed ies s Sdomod RDesHING

SRR O VTP VN TOY
o203, - A %) 0308, — B (%)
1 30,000 10,000
2 40,000 30,000
3 50,000 40,000
4 30,000 60,000
9 20,000 40,000

a) SHoTOWE LT
b) dF,$ TRYE &3Py, (NPV) 3e. 9 SBT3, FeBRDY ARFTY eww

O3NS 303NRL :
war 1 5 3 4 5
00330H8 @e3  0.971 0.842 0.772 0.708 0.650

(@ 9%)
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1. 20308 Rrbscho VAT, BRREND e Y8 WP B RS 5P (NPV)

é)qsadr{védgt UTO3ReNR oimeuéodaa‘:g{m‘aqseém.

odnews X
4
BRRE 70,000
BRBOSe IRFT @oZ B NYB 40,000
SOBRSe BRET WZT 193 _ - 30,000
BR0Se BRET @0IT NS 20,000

oSnems Y

3
80,000
50,000
25,000
25,000

BRYB dB Y #5°¢, (NPV) =) Je. 20 T DoSRODS 0339, SEH8.

wRE 1 2
D03n0he @e3 @ 20% 0.833 0.694

3
0.578
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¢
90,000
55,000
40,000
20,000




